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Which of the following compounds is paramagnelic?
(A) Oy (B) NO, O Ti(,0)6" (D) Fe(H,0)>  (E) Fe(CN)&—

Which of the following substances would provide good conductivity in the aqueous solulions?

(A) PI1Cl, (B) PCl; (C) HCIO, (D) CaO (E) NH4Br

Which of the following may be classified as sofl acid?

(A) P (B) T ' (D) OH™ (B)s*=
mﬁf-‘fl@&"@%

(E) NaySi;05

Which of the following species may@ifm p%rme@ %
(A)Si0;  (B)Ceo (% o, NaiPOR,
—
'w- .,—’!" L)

(A) NaCl (B) CsCl 36) I
(E) zinc blende (ZnS) :_.
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Considering properties of CoCl, %;'a b m@ ;@t’ﬁ; slatement is correcl?

(A)the electronic configuration of ce @R ¥y 65 a-pe"l
(B) paramagnelic e :,.gf’?i e
(C) labile kinetics

(D) electrically conductive

(E) there are two geometrical isomers

Which of the following compounds does not have C; symmetry?
(A)BF; (B) Co(en)s*" (C) diborane ByHg (D) borazine B3Ny  (E) XeOy4

Considering the atomic structure of hydrogen with Schrodinger’s approach, which of the
following statement is correct?

(A)3s and 3p are equal in energy

(B) the electron in 3s is always closer to the nucleus than in 3p

(C) transition between n = 3 and 4 absorbs visible light

(D)n =0 is not allowed

(E) UV light can ionize the electron

Which of the following compounds meets EAN rule?
(A)PFs (B) TaMes  (C) Fe(CO)s (D) P{{PPh,),Cl; (E) CpFe(CQO),Me
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10 Which set is in order of increasing radius? .
(A)ca®, K*, §2° (B) 0*, 877, 8¢~ (C) Fe’', Fe¥', Fe
(D)F, O, N (E) Na', F~, Ne

1T Which of the following compound is trigonal planar?
(A)SO;3 (B) SO3*~ (C) COs™™ (D) PF3 (E) AIF,

12 Considering the bond enthalpy, which of the following statement is correct?
(A)bond breaking is endothermic
(B) bond forming give off energy
(C) the bond energy of Cl, is experimentally measurable

(D) the bond enthalpy of the sigma bo&d}iﬂ@%‘@q&hm those of the pi bonds

(E) the sum of bond enthalpies ofiie e'wtlﬂ*f ys eqs the sum of bond enthalpies of the
& \< b )
products _
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13 Ozone can absorb ultmvaolelﬂ‘jﬁght
been determined as Rate = k[‘@{}%f

(a) Write the stoichiomelric eqt }ﬁﬁ is reaction. /‘§'§' ‘W"
(b) Derive a mechanism that exp %_s‘{&f)s\m{ﬁ*uj

(c) Draw an encrgy profile for this reﬂ”% gﬂ@mﬁe activation energy in the profile. (5%)
(d) Explain why NO can accelerate the ozone deplellon’? (5%)

T[iﬁ rate law for this reaction has
lll? 1 ._;‘..

<

14 Compare the reaction of LiNy and KCH,;COO with ammonia (10%)
(a) In waler?
(b) Without the presence of waler.

15 (a) Use the molecular orbital diagram to explain the paramagnelism of C;. (5%)
(b) Predict the bond dissociation enery of C," and C;~, and compare with C; (5%)
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